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1

1.236 x 10'5 - 5.23 x 10'* equals —

(A) 7.13 x 10™ (B)7.13

(C)71.3 (D)-3.994

The value of %}0.000064 is —

(A) 0.02 (B)0.2

(C) 2.0 (D) None of these

At the first stop on his route, a driver

2
unloaded s of the packages in his van.

After he unloaded another three packages

1
at his next stop, 2 of the original number

of packages remained. How many packages
were in the van before the first delivery?

(A) 25 (B) 10
(C) 30 (D) 36
m 12 m? +n?
If — = +—, then find the value of —; o
n 10 m< -n-
A 52 B 63
C 7£ D 9£

The product of Ist three composite numbers
is equal to —

(A) 316 (B) 192

(C) 315 (D) 218

In a morning walk, three persons go for a
walk together, their steps measure 80 cm,
85 cm and 90 cm respectively. What is the
minimum distance each should walk so
that they can cover the distance in
complete steps?

(A) 122 m 40 cm (C) 123 m 45 cm
(B) 122 m 45 cm (D) 122 m 50 cm

The auto rickshaw fare consists of a fixed
charge together with the charge for the
distance covered. For a journey of 10 km,
the charge paid is ¥ 85 and for a journey of
15 km, the charge paid is ¥ 120. The fare
for a journey of 25 km will be

(1) T 175 (2) T 190

(3) T 180 (4) ¥ 225

10.

11.

12.

13.

A manufacturer of fridges produced 600
units in the third year and 700 units in the
seventh year. Assuming that the
production increases uniformly by a fixed
number every year, the total production in
7 years will be

(A) 4537 (B) 4375
(C) 4753 (D) 4735

In an arithmetic sequence, the first term
is 11, the nth term is 143 and the second
term is 15. Find the sum of Ist n terms of
the sequence.

(A) 2681 (B) 2861
(C) 2618 (D) 2816

65% of students in a class like cartoon
movies, 70% like horror movies and 75%
like war movies. What is the smallest
percent of students liking all the three type
of movies?

(A) 30% (B) 20%
(C) 10% (D) 5%
The product of the present ages of Sarita
and Gauri is 320. Eight years from now,
Sarita's age will be three times the age of

Gauri. What was the age of Sarita when
Gauri was born?

(A) 40 yr (B) 32 yr
(C) 48 yr (D) 36 yr
A, B and C have 40, x and y balls,
respectively. If B gives 20 balls to A, he is
left with half as many balls as C. If together
they had 60 more balls, each of them would

have had 100 balls on an average. What is
the ratio of x to y?

(A)3:2 (B)2:3
C)2:1 (D)3:4
The average marks of a student in 8
subjects is 87. Of these, the highest marks
is 2 more than the one next in value. If
these two subjects are eliminated, the

average marks of the remaining subjects
is 85. What is the highest score?

(A) 91 (C) 94
(B) 89 (D) 96
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1.236 x 10'5-5.23 x 10" % AF &
(A) 7.13 x 10" (B)7.13
(C) 71.3 (D) -3.994

¥J0.000064 T EA & -
(A) 0.02 (B) 0.2

(C) 2.0 (D) 57° | = &
YA A F WH GEE 9, MEN F1 SEAE M F T

el T A = AN 1 TAR =1 21 A 2 1=

W 3R T H T ® 4w, MEH W H/Em
# w4 T ot v ¥, @ e T w5 wmiew

HE 17

(A) 25 (B) 10

(C) 30 (D) 36
m 12 . . m*+n°

qaE —= — 7 FIAAE -
n_10 ™ m? -n?

ﬂSﬁ BEE.

(A) T (B) T

C?E DQE

(C) 11 (D) 11

T 41 9 wEs w1 A E -

(A) 316 (B) 192

(C) 315 (D) 218

i =1ff TF oy g W FE € 9% 0F F99 F
Zh wH: 80 A, 85 ¥ Al 90 W #)
=2 =Am e T @ s e afE 2w Tl o
TEF F FaH Hi g0 9 YU wE H A SO
(A) 122 T 40 FHt  (C) 123 Ht 45 HHT
(B) 122 51 4596t (D) 122 =t 50 =t
Arfren =1 e vF fwifa 9= v wn = =l
Tl F W # AW e g Aty 10 fRedte
1 7i 2 et TR ¥ 85 7 # ud 15 fFoto
T #9 o 120 2 8, @ 25 frodte %1 it
(1) F 175
(3) ¥ 180

(2) ¥ 190
(4) T 225

10.

11.

12.

13.

sy = Tw fAwia @ ad W 600 T W
IAEA HIA & U OEE 99 § 700 THE &1 I9EA
F1 £ AfE 9 ° 9fE wieEd uF 5EE E, |
7 =41 w1 FE e § -

(A) 4537 (B) 4375

(C) 4753 (D) 4735

UF THE S W, W TS H 1 AE 11 E, nd 9w
M 143 UF 350 9% F1 UA 15 €, 9 39 gme ®
UHH n 9B T A0 OB -

(A) 2681 (B) 2861

(C) 2618 (D) 2816

et Tl F 65% 2 T (hed, T0% == frew
TE 75% 9% W i fred THT W € 9 9 e
F1 fofed wHs & T a1 =T g 2 -

(A) 30%
(C) 10%

(B) 20%
(D) 5%

At 3 T FHEE A = w320 €1 @6
=i =%, \itw £1 39, T =t 39 = 44 73 2 i)
T F TN F gy o #w oA o -

(A) 40 79 (B) 3294
(C) 48 = (D) 3671

A, BUAC % 98 %99: 40, x T4 y 73 €1 975 B, A
F120 7% % #, 9 395 W 75 F1 HEm C =t g
¥ st w S #) aff =% Tw wm 60 W R
wfirr 2, T wErE F e § e 100 T S
x'lllﬁ- y'ﬂﬂaﬂ?['ilﬁ% -
(A)3:2

c)2:1

B)2:3

D)3:4

U W &1 8 fawd # sfEad 87 siF wie g0 £1 5
T, T W 3, T TE W W SF ° 2 SR
21 4% = =1 foo =1 g o =, & 9 fama =
S % 85 T mEEE WE oF § -

(A) 91 (C) 94

(B) 89 (D) 96
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14. In a consumer preferences survey, 20% | 20. A manufacturer sells a pair of glasses to a
respondents opted for product A wh?nlaas whaolesale dealer at a profit of 18%. The
'.E'GD’% E_"PtEd for product B. ']_"he rEnainms wholesaler sells the same to a retailer at a
11'_1d1v1dua15 were undecided. If the profit of 20%. The retailer in turn sells them
difference between those who opted for .
product B and those who were undecided is toa cu_stu::mer for ¥ 30.09, thE'l'l-E'b} carning
720. How many individuals had been a profit of 25%. The cost price for the
interviewed for the survey? manufacturer is
(A) 1440 (B) 1800 (A) F 15 (B) ¥ 16
(C) 3600 (D) Data inadequate (€)% 17 (D) T 18
15. Shyam had three notebooks X, Y and Z. Of )
these, X had 120 pages, Y had 10% more 21. A grocer sells rice at a profit of 10% and
and Z had 10% less. If he tore out 5%, 10% uses a weight which is 20% less. Find his
and 15% of pages in X, Y and Z respectively, total percentage gain.
then what percent of total pages did he tear out? (A) 25% (B) 20%
(A) 8% (B) 15%
(C) 10% (D) None of these
(C) 7% (D) None of these
16. The concentration of petrol in three 22, What is the maximum percentage discount
different mixtures |[of petrol and kerosene) that a merchant can offer on her marked
1 3 4 price so that she ends up selling at no profit
15 E s g and E , respectively. If 2 L, 3L and or loss, if she had initially marked her goods
by 30%:7?
1 L are taken from these three different e '
vessels and mixed, what is the ratio of petrol (A) 16.6T% (B) 20%
and kerosene in the new mixture? (C) 50% (D) 33.33%
A)4:5 (B)3:2 23. A,BandC cand kin 8, 16, 24 d
€)3:5 D)2:3 . ; an_ can do a wor m_ ., 1B, ays
) respectively. They all begin together. A
17. A trader has 50 kg of pulses, part of which . i el e
continues to work till it is finished, C
he sells at 8% profit and rest at 18% profit. ) ;
He gains 14% on the whole. What is the leaving off 2 day=s and B one day before its
quantity sold at 18% profit? completion. In what time is work finished?
(A) 50 kg (B) 30 kg (A) 5 days (B) 10 days
B E ays ays
(€) 10k (D) 20 k C) 15 day D) 12 day
18, Th:lre lar-E- ? mt?‘l DfH4318;_EII}hstudent§. i ‘:_ 24, A andB can do a piece of work in 20 and 15
schools of a city. Hall the number o days respectively. They worked together for
2 5
students of the first school, - of the second, 6 days, altet wl'ur__‘h B w-as replaced by C. i
the work was finished in the next 4 days,
3 . 4 then the number of days in which C alone
ri of the third and s of the fourth are all could do the wark will be
equal. What is the ratio of the number of (A) 60 days (B) 40 days
students of A to D, if A, B, C and D be the
firset, second, third and four schools, (C) 35 days (D) 30 days
respectively? 25. Two partners invest ¥ 1,25,000 and ¥ 85,000
(A)B:5 Byl1:3 respectively in a business and agree that
Cl2:3 D)7:9 60% of the profit should be divided equally
19. Ratio of the earnings of A and Bis 4 : 7. If between them and the remaining profit is
the earnings of A increase by 50% and those it be treated as interest on capital. If one
of B decrease by 25%, the new ratio of their partner gets 7 300 more than the other,
earnings becomes 8 : 7. How much is A find the total profit made in the business.
sarnings A)F 3793.50 B) § 3937.50
(A) ¥ 28000 (B) ¥ 21000 W ' B '
(C) T 26000 (D) Data inadequate (C) ¥ 3379.50 (D) ¥ 3973.50
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15.

16.

17.

18.

19,

TovE 1 WAl % U T H, 20% Ta9EmE
3 IR A T WHEHA 5 UE 60% 7 39E B ®I 9
I A 13 I B F weEEa 31 Fw
IrETE TS AT IUdEEeT St 9Em o o
720 ¥, w1 = e SusiEEE W wsem R Tl
(A) 1440 (B) 1800

(C) 3600 (D) #AFE ==

TIM % WE A 61 w00E X, YU ZE XF 120
T &, Y H 399 10% Afas v ZF 399 10% FH
7 #) Afg 7% F4 X, Y U5 Z F FE9: 5%, 10%
15% e =1 1= 340 2, ° e e gfawm 70t =5
T wg faa?

(A) 8% (B) 15%

(C) 7% (D) 779 | Frd T

o T e ® A fafem et § e W

, 1 3
Hizdl TFH51: —

E’E % %I 'ﬂﬁ'ﬁﬁﬁm;
2 witer, 3 wie # 1 s g w1 e sy W
foern m, @ Aw fagm # Ggw wE fEOEE ow
I # -

(A)4:5 B)3:2

(C)3:5 D)2:3

T =N ® 9 50 e 5w #, e e 9w =
8% F T T US I T 18% F o T A= #1 5
TETE P T 14% T HAE E, T 18% T W T
T T A E -

(A) 50 fremm (B) 30 =

(C) 10 T (D) 20 fwemmE

TF VE F 4 Tl § e 43800 v #) w4H
o & == 1 Fo S 1 A, T e
%HTFR?*F %qaﬁrﬁ':ﬁ % T AT § AT 2
faaea ATED # 26 %1 HEmE # o e Al
A, B, C U D aw91:, WM, &, g v <ir T £
(A)8:5 (B)1:3

c)2:3a D)7:9

ATA BF @ =1 374 4 : 78 A A® sma ¥
50% %1 375 T4 B ® @9 § 25% F1 w41 261 7,
T IAF AT T T ST HHY: & T E AW A
I am ¥ -
(A) ¥ 28000
(C) T 26000

(B) T 21000
(D) #TF2E 1A

21.

22,

23.

24,

25.

TF =Sva i o fawa F1 18% F Wy W Iy
= | i Tkl S9El I HE T i 20% ®
oY W AEE # gE0 fawma RS F oA =
¥ 30.09 ¥ T=m # fomd =8 25% 1 @9 WE T
%\ Fmtm =1 =mmE gem ¥

(A) T 15 B)T 16

(C)F 17 D) T 18

TF TFAEE WEE FO10% T W dEd AR
WH-E-T9 20% FH 97 F1 IR w4 E A I
Fa fEm wfmwm =1 @ T # -

(A) 25% (B) 20%

(D) =7 | F7E &

TF HAMH 39 HE F #Ahd Jod W Afdwan fFma
WfEvE 1 g 2w € A TH A e w A A wf
oz T9F 3 R g T9F @Fa ged 9 50%
Al 217
(A) 16.67%
(C) 50%

(C) 10%

(B) 20%

(D) 33.33%

A, BTE C U= % &1 %H9: 8, 16, 15 24 &4 § &2
TFA €13 T T WY w5 Fe s e ) AFHE
T T 7% A wm §, CwE [ EE | 2
TEd U9 B U o W W w0 9 39 £, o fee
foet | = mETE oS

(A) 5 f= (B) 10T

() 15fA (D) 12f3

ATH BUF FH F1#FH9: 207F 15 5 4w awa
#1 4 firer 6 fril 7% & = &, food o B#
e C F FI T A 530 w1 AfF s 4 B
¥ T F S E, W e C 5W T FE
o wm we E -
(A) 60 a7

(C) 35T

(B) 40 f&=

(D) 30f=

%1 WIEER UF 9 =9 § w9 T 1,25,000 T
F 85,000 F1 &9 0 ¥ o 7w 71 =0 € i @
F1 60% 39 TF % A9 TE A0 94 S 9
= =1 A W= F ' F A e afz s
TERE F gEL 4 T 300 #faF WA v # @ =m
o gan wE W # -
(A) ¥ 3793.50
(C) T 3379.50

(B) ¥ 3937.50
(D) T 3973.50
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can A and B together do the same piece of
work?

1
(A) 11 hour (B) 5? hour

3 3
1C) 2? hour (D) 3? hour

www.ssc-cgl2014.in
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26. Arvind began a business with ¥ 550 and | 32. Ajay, Aman, Suman and Geeta rented a
was join afterwards by Brij with ¥ 330. house and agreed to share the rent as
When did Brij join, if profits at the end of follows
the year were divided in the ratio 10 : 37 Ajay : Aman = 8 :15,
[A) After 4 months Aman: Suman =5 : 8 and Suman : Geeta =4 : 5.
(B) After 6 months The part of rent paid by Suman will be
24 13
(C) After 4.5 months A == (B) —
77 66
(D) None of these
27. The rate of interest for the first 2 yrs is 3% () 12 (D) 13
p-a., for next 3 yrs iz 8% p.a. and for the 25 7T
period beyond 5 yrs is 10% p.a. If a man | 33 Twg casks of 48 L and 42 L are filled with
earns I 1,520asa s.lmple mtenlast for 6 yrs, mixutres of milk and water, the proportions
how much money did he deposit? in the two casks being respectively 13 : 7
(A) ¥ 3500 (B) T 3600 an_.d 18 : 17. If the contents of two casks be
mixed and 20 L of water be added to the
(C) ¥ 3700 (D) ¥ 3800 whole, what will be the proportion of milk
28. A sum of money lent at compound interest and water in the resulting mixture?
for 2 yr at 20% per annum would fetch (A)5:12 (B)7:13
T 482 more, if the interest was payable half (C)12:13 (D) 8: 15
yvearly than if it was payable annually. The
sum is 34. A, B, C together earn ¥ 1450 and spend
60%, 65% and 70% of their salaries
(A) T 10000 (B) ¥ 20000 respectively. If their savings are in the ratio
(C) ¥ 40000 (D) T 50000 14 : 21 : 15, the salary of B is
29. In a test consisting of 150 gquestions (A) ¥ 500 (2) ¥ 600
carrying 1 mark each, Saurabh answered (C) F 450 (4) T 750
80% of the first V5 questions correctly. What ) i )
x 35. Postcard costing 30 paise each and inland
per cent of the other 75 questions does he )
need to answer correctly to score 60% letters costing ¥ 1.50 each were purchased
overall? for ¥ 66. Total number of postcards and
inland letters purchased was 60. If the
(A) 20 (B) 40 number of postcards and inland letters is
(C) 50 (D) 60 interchanged, then the cost is
30. A tree was planted three years ago. The rate (A) T 42 (B) ¥ 30
of its growth is 30% per annum. If at ) T 21 (D) ¥ 60
present, the height of the tree is 670 cm,
what was its height when the tree was planted? 36. Mr. Vellu buys a generator for ¥ 100000 and
(A) 305 cm (B) 500 cm rents it. He puts 12.5% of each month's rent
aside for upkeep and repairs, pays ¥ 325
(€} 405 cm () 625 cm per year as taxes and realizes 5.53% annually
31. B can doa piece of work in 6 hours, B and C on his investment. Find the monthly rent.
together can do it in 4 hours and A, Band C (A) ¥ 634.76 (B) ¥ 654.76
2
together in ZE hours. In how many hours () X 554.76 (D} 3" 486.32
37. From the salary of an employee, 10% is

deducted as house rent, 15% of the rest he
spends on children's education and 10% of
the balance he spends on clothes. After this

expenditure, he is left with ¥1377. His
salary is

(A) F 2000
(C)F 2100

(B) ¥ 2040
(D) T 2200
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27,

28,

290,

30.

31.

s T SR H yEAE T 550 § w9 8 U
=% % T 35 =R 6 F 330 ® wE@ w1 3 ad &
S | T AL T A HT SR WE: 10 : 3,
a1 fom =9 =R H A 5eE 9w o2 @

(A) 4 HET =TT (B) 6 WEH g

(C) 4.5 7EH =g (D) 775 | = T

WeH 2 96 % fery = i = 3% Wid =6 7, e
3 7 ¥ oA F1 % 8% W i v s Hm 9 e
71 29 == F1 5T 10% Wfad 21 °9fz v =fHm 6
T F WEET S F E9 H T 1,520 WH HAA L
(A) T 3500 (B) T 3600

(C) ¥ 3700 (D) ¥ 3800

THE # T UF M W 20% THIE =S A
Y 290 W W = T 482 afuw e, Az oy
T AT =7 A0 1 oTE SHW O Sl 2 5
e -

(A) T 10000 (B) T 20000

(C) T 40000 (D) T 50000

150 991 =1 U Titen | W 9A & fom o s
i 21 € wem 75 w9 ° § 80% T F1 6E
I R4 T 3H Wl 99 75 e A ° fred whiem
A F WE I A T afF 36 9 60% FF
o &7

(A) 20 (B) 40

(C) 50 (D) 60

U U 1 3 =T TR w0 T T afs 2 uf
=4 30% 21 3% 799F 4, 92 F1 F9E 670 =
%, W FE T 9% ¥ FAw o -

(A) 305 HEHR (B) 500 Hmt=

(C) 405 Htdizr (D) 625 HtHier

BT %@ % 692 § 71 A%W €, B A C fresy
0 = F 4 92§ 1 A £ 741 A, BUE C #Af

¥ ! 2 - Sn bt . = .
foe®t 39 =4 =1 25 B A FIOEA e, A ATH
B foe®: 38 54 &1 f5ad 92 § =1 o954 &7

' 1 ..
(A) 11 %2 (B) 6 =2

(C) 2% e (D) 3% T

33.

34.

35.

36.

37.

ST, WA, qHA TS T U R T WA F 1
frefafaa aqmel @ femm 49 = meme w9 E
g AT =8 :15,

Y HA=5: 8TE A : Mdl = 4 : 51§54 5
e T R -

24 13
@ 77 ) 66
12 13
© 35 O 77

48 T2 UF 42 T SO 9 5 99 59 TE TE E
foum & oF g #) =9 = A 59 UE e F AT
FHA: 13: 7UF 18 : 17 81 4% 39 34 A0 =1
e ® THem = e 39" 20 wier wE ot faen &
= q o fasmr F 39 uF uE 1 qEEEE @
(A)5:12 (B)7:13

(C)12:13 D) 8:15

A, B C foert ®e T 1450 96 £ UF 39
Al 1 FE: 60%, 65% T8 70% @9 F4 £1 3
9% 5 fFu T g F AAm 1421 15,
B F &0 & -

(A) T 500 (2) T 600

(C) T 450 (4) T 750

7 66 F |9 W=HE AN F7 ATEIE 0 mE ™
o] Wk dReTE =1 Wi 30 98 v v sl
T F FEA T 1.50 ¥ R WIS T GE=FE #n
AaEvia o= ®1 gEm 60 o Afz dr=wE En
SoTayia g3 = oEma F arrn o 93a e
A | B -

(A) T 42 (B) T 30

(C) T 21 (D) ¥ 60

4t &7 T 100000 ¥ TF A B & &
W 3 21 A T w1 12.5% TErEE Ud 5O
F Tore s T 2, F 325 79 79 = o E e
5.5% Wiaad fram § s #) S W wies
sREEH

(A) T 634.76 (B) ¥ 654.76

(C) ¥ 554.76 (D) ¥ 456.32

TF FHIA F A9 ° ¥ 10% W fFen § |€, v
F1 15% qwat Fit foen o =d 7 79 g0 0 =@
10% 9El T T 2@ 7 T % =9 4% s 9
71377 ¥ T® 90 &, A W FHAW w1 EH E -

(A) T 2000 (B) T 2040
(C) T 2100 (D) ¥ 2200
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of a rectangular park is 3 : 2. If a man
cycling along the boundary of the park at
the speed of 12 km/h completes one round
in 8 min, then the area of the park in sq.m. is
(A) 15360 (B) 153600

(C) 30720 (D) 307200

www.ssc-cgl2014.in
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38. A man has to cover a distance of 6 km in | 44. A car travels 25 km /h faster than a bus for
45 min. If he covers one-half of the distance a journey of 500 km. If the bus takes 10 h
more than the car, then the speeds of the
in Erd time, what should be his speed to car and the bus are
o ) ) (A) 25 km/h and 40 km/h
cover the remaining distance in the
remaining time? (B) 20 km/h and 25 km/h
(A) 12 km/h (B) 16 km/h [C) 25 km/h and 60 km/h
D) N f th
(C) 3 km/h (D) 8 km/h (D) None of these
) ) 45. A man who can swim 48 m/min in still
39. Tvl:rn:n taps can sjeparatel}r ﬁll a cistern in 10 water, swims 200 m against the current and
min and 15 min, respectively. If these two 200 m with the current. If the difference
pipes and a waste pipe are kept open between those two times i= 10 min, what
simultaneously, the cistern gets filled in is the speed of the current?
15 min. _The waste pipe can empty the full (A) 30 m/min (B) 31 m/min
clstern in . .
(C) 29 m/min (D) 32 m/min
A) 7 mi B) 13 mi
(A) 7 min ®) S 46. What is the next number in the series
(C) 23 min (D) 9 min given below?
40. A, B and C are three pipes attached to a 53, 48, 50, 50, 47
cistern. A and B can fill it in 20 min and 30 (A) 51 (B) 46
min respectively, while C can empty it in
15 min. If A, B and C be kept open (€) 53_ ) {DH_SE )
successively for 1 min each, how soon will | 47- The missing nun'.lher in the series 8, 24,
the cistern be filled? 12, 36, 18, 54, ... is
(A) 180 min (B) 60 min W27 ) 108
(C) 157 min (D) 155 min IC) 68 )72
. ; ; 48. In a class of 90 students, amongst 50% of
4]1. A train after travelling 150 km meets with the students, each student got number of
. ) 3 sweets that are 20% of the total number of
an accident and then proceeds with 5 of students and amongst the remaining 50%
its former speed and arrives at its of the students, each students got number
destinati Sph late. Had th ident of sweets that are 10% of the total number
estination ate. Ha e acciden
_ of students. How many sweets were
occurred 360 km farther, it would hawve distributed among 90 students?
reached the destination 4 h late. What is
the total distance travelled by the train? (4) 960 (B) 1015
C) 1215 D) 1620
(A) 840 km (B) 960 km (©) (0
49, A money-lender, lends a of his mone
] part ¥
(C) 870 km (D) 1100 km at 10% per annum and the rest at 15% per
42. A train is scheduled to cover the distance annum. His annual income is § 1900.
between two stations 46 km apart in one HUWE“’ET, if he had interchanged rate of
hour. If it travels 25 km at a speed of 40 interest on the two sums, he would have
km/h, find the speed for the remaining earn ¥ 200 more. The amount lent will
L]
journey to complete it in scheduled time. fetch what amount at 15%?
(A) 66 km/h (B) 56 km/h (A) T 6000 (B) ¥ 4000
(C) 46 km/h (D) 36 km/h (C) ¥ 10000 (D) T 4400
43. The ratio between the length and breadth | 50. A man borrows < 6000 at 10% compound

rate of interest. He pays back ¥ 2000 at the
end of each year to clear the debt. The
amount that he should pay to clear all his
dues at the end of third year is

(A) ¥ 6000 (B) ¥ 3366
(C) T 3060 (D) ¥ 3066
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39,

40,

41.

42,

43.

oot =1 =1 6 TFend= =1 5 45 e ¥ w3 =

#1 Atz = st Tl % HHA H O G # A 9 gl
1 99 HE H 79 # & Tau 59 =t #o9e wn
BT

(A) 12 foTtors (B) 16 fForfte sz

(C) 3 fFotfiosman (D) 8 feRowtosma

71 7% fret ww =% &1 w10 fee sim 15 fe
o 9 Tt %1 A T = T S 26 mE w5 e
T O19d T 1 s |19 @ EE S, 9 2 18
fie w7 Al 81 WE w1 A 99 e gug o
ZF T L TEd B7

(A) 7 o2 (B) 13 fimz

(C) 23 T2 (D) 9 Tz

A el A, B @i C foredi 251 6 92 qu I AT B
e 20 iz #fn 30 fee ® A F, TafE C 3
15 fire & =t =t v &1 9fz 7 A, B SR C
v w1 1 e F weR #9 W =@ o f,
foFa weel TH1 W THAT 27

(A) 180 fam= (B) 60 fa=

(C) 157 fo= (D) 155 f=

fedt et =1 150 feotte =1 it 79 F11 % wvEn

gdﬂiﬁﬁﬁﬁ%*ﬁﬁ"ﬁqmwaﬂ%wﬂﬁ
T IETIET WM wEdl © AW = i W w8 Wl
ﬁﬁﬁﬁﬁ%lﬁﬁﬁBﬁDﬁ?nﬁu?ﬁﬁ
TE MET fAuifm e W 4 =2 w50 | vgEe mE
BRI 7 W W wma Tl wn 7

(A) 840 foHto
(C) 870 fFoHte (D) 1100 f&FoHto

2z B2YEl % W 46 fRorie w1 g0 fEd TmmE) =
uF =2 H 7 w5 ¥ afE g mE 40 oo #t
e | 25 THodto @ HAt &, o Feife wwm § 9w
T ™ F3 F forn YermEt = we e

(B) 56 fFedtesm

(D) 36 fFodtoTa

el s Tm w1 TR SR e w1 e
3: 2% af% 12 frotfiosa 1 5= ® 529 & =
AN AEfFA 9 UF 991 oH ° fRE sfaE #w
8 firz = &, & 29 & awe (F9 Hie §) #-
(A) 15360 (B) 153600
(C) 30720 (D) 307200

(B) 960 fHodto

(A) 66 fFodtoam
(C) 46 fFodto =T

45.

46.

47,

48,

49,

50.

500 fEerdte #t 7ft 1 w7 F uw www ot a9 |
25 fFororgz Afasw fa | werar 71 3% FW
el o6 10 52 sifvs 79a ° 9% i 79 S @, @
FW AT T T AW E -

(A) 25 Frotiossia 4t 40 fHowto wa

(B) 50 feotite gz 31K 25 feRowftossan

(C) 25 FRetiio/sa1 #T 60 fFowio g

(D) 399 & =1 T&

T At Ao e W 48 defe w5 afa g ®
TEA T, U F fAUE 200 W A9 90 F S
200 Ht= m #1 Ak SH T F T ™ e =
e 10 T &, 1 9 =1 ae =

(A) 30 wi/fae (B) 31 /A=

(C) 29 gifrr (D) 32 ==

4 f5u T gEen § s W =, By

53, 48, 50, 50, 47

(A) 51 (B) 46

(C) 53 (D) 52

gEen 8, 24, 12, 36, 18, 54, ... ¥ fagqa 9=
T #?

(A) 27 (B) 108

(C) 68 (D) 72

00 @ Ft w4 H, 50% T § WEE 91 g wl
T faST w1 W, wA B F W T 20% 9
W 919 50% 21 § Weow oA o T THeRdl # Hem
Tl Tl WS F 10% 9 90 TEI ® §e W M
TaETt =1 == @ 9r?

(A) 960 (B) 1015

(C) 1215 (D) 1620

F o T UF wiE e i = owE 9w 10%
aAfF aen 99 0f 15% =HE 3 | IR W R
SaF! AfiF @ F 1000 71 A% = =4 3497 f&u
I AN T WER SATE W awE o w0 36 T 200 H:
Ffrfiaa o9 81 15% Wi 5 H IUE 5 T 0w
TRz = owm?

(A) ¥ 6000 (B) T 4000

(C) ¥ 10000 (D) ¥ 4400

10% =M% == F1 T 8 TF =7 T 6000 347
e ¥ AF WM F d | welw A ¥ 2000 IWR
% % fau dm &1 @ 3l F o 0 = g e
#F o, =@ =i =61 Tt ofen 241 =

(A) F 6000 (B) ¥ 3366

(C) T 3060 (D) ¥ 3066
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51. In XY plane P and QQ are two points in such | 50, What will be least value of 45ec’0 + 9cosec’d -
that their co-ordinates are (2, 0) and (5, 4). Al 1 Bl 19
The numerical value of the area of the circle (A) (B)
of radius PQ will be — (C) 26 D)o
(A) 25# (B) 20 = 60. If sinx+ cosx= 1, then x=7
(C) 15« (D) 18« 5
fl T
52. What will be the area of the trapezium (A) 3 B) 3
formed by x-axis, py-axis, and lines
Jx+4y=12, bx + 8y =607 I 4n
(A) 37.5sg. unit (B} 31.5 sq. unit 1€) 5 D) %
(C) 48 =sq. unit (D) 36.5 =q. unit
53. Find the value of x, if 552,32 ¢ = 225, 6l. If tan 15" =2 - 1,"5 , then what is the value
(A) 5 (B) 6 tan 15" . cot75° + tan73" . cot 1572
C)7 (D) 8 (A) 14 (B) 12
54, Nfax®+ by’ + x—6has (x+ 2) as a factor and (C) 10 (D) 8
?azefha rE;w“d? 4 ""EE;‘ divided by (x=2), | 62, A circus tent is cylinderdial to a height of 3 m
1n € vathes ob @and B and conical above it. If the diameter of the
A)a=1,b=1 (B)a=0,b=2 base is 140 m and the slant height of the
(Cla=2,b=2 (Dja=0,b=3 conical portion is 80 m, the length of canvas
55. Ifa, b, c, are in AP and x, y, =, are in GP, 2 m wide required to make the tent is
then x* ~c. y-o.z" b =? (A) 8960 m (B) 9660 m
(A) 0 (Bla+tb+c (C) 9460 m (D) 9860 m
1 (D) xy= 63. Ametal sheet 27 cm long, 8 cm broad and 1 cm
56. A wire of length 60 m is used to enclose a thick is melted into a cube. The difference
field which is in the shape of a right-angled between the surface area of the two solids , is
triangle. The area of the field is 150 m?. . .
Then, the largest side of the field has a (A) 284 cm (B) 296 cm
length of (C) 286 cm? (D) 300 cm?
(A) 30 m (B) 20 m 64. A medicine capsule is in the shape of a
(C) 25 m (D) 15 m cylinder with two hemispheres stuck to
57. In fig. TQ and TR are the bisectors of ~Q sach of %ts sids. The lengtl"{ of the entire
d /R tively. If QPR = 80° and capsule is 14 mm and the diameter of the
WA & I Teapactive }r - an capsule iz 5 mm. The surface area of the
S PRT = 30°, determine ~TQR and ~ QTR. capsule is
(A) 420 mm* (B) 222 mm*
(C) 220 mm’ (D) 440 mm’
65, lfa+ b +c—ab-be—ca=0, then
[Ala+ b=c Blb+c=a
[Cle+a=hb Dja=b=c
(A) # TQR=30° s QTR=110° 66. If K%+ 2x'% + kis divisible by x + 1, then
(B) ~TQOR =60°, / QTR = 130° the value of kis
(C) 2 TQR =30°, ~ QTR = 130° A1 =2
(D) ~TOR = 40°, QTR = 150° ()2 (D) -2
58. Each of the five angles of a polygon is 172° | 67. If S=1+a+a' +a' +a'+..x,thena="7
and each of the remaining angles of the
polygon is 160°. The number of sides of the (A) = (B) =
: S5-1 1-5
polygon is —
(A) 22 (B)23 S-1 1-§
(C) 20 (D) 21 1€) —5— D) —5—
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52,

53.

a5.

o6,

o7.

5B.

XY 73 ¥ Paw Q1 vy fag €, fo= fadwrs =
(2, 0) 7= (5, 4) &1 TwER, PQ T aF 99 +
HARE H HGHER HA B -

(A) 25 (B) 20 =

[C) 15 (D) 18 =
-, -3 T 3+ Ay = 12, b+ By = 60 W
@t 4 74 guerE 9gde w1 SA%a fHen e
(A) 37.5 1 U== (B) 31.5 =7 U+

(C) 48 =7 == (D) 36.5 =7 uF=®
x 1 U FrRT, I 552325 = 225 % -
(A) 5 (B) 6

€7 (D) 8

A% (x+ 2) FTH ax’ + bl + x— 6 T T # 74
THH M 4 T & W@ T (x— 2) ° fawt
o = #1 @ AR b AR )
AJa=1,b=1 [B)a=0, b=2

[Cla=2,b=2 (D)a=0,b=3

A% a, b, c, APHEI T8 x, y, =, GPH B, 2.
Yoz =)

(A) O Bla+b+ec

€)1 (D) xy=

60 2 THET AR F1 TIEE U qHE0E & B o
¥ TR R S #) A F AEEE 150 7 W
¥, &9 % wan o g+ #1 e -

(A) 30 9= (B) 20 9=

(C) 25 Hi= (D) 15 =2

%t M AR H, TQ @it TR %9 ~ Q X 2 R
Tl #1498~ QPR =80° 3 ~ PRT =30° %,
T TQRTA ~ QTR &1 7 A=l

(A) 2 TQR =30°, ~QTR=110°
(B) 2~ TQR =60°, ~ QTR = 130°

(C) 2 TQR =30°, ~ QTR =130°

(D) #TQR=40° ~QTR=150°

U AEYE F WO T w0 § U 1720 € 30 A
Ui H W 160° ¥ FEE w9y w1 o € -
(A) 22 (B) 23

(C) 20 (D) 21

&0,

61.

62,

63.

64.

65.

6b.

67.

4sec’d + Ocosec’® FT =09 TH fHaT w7
(A) 1 (B) 19

(C) 26 (D) O

A% sinx + cosx= 1%, x=7?

® 3 ®) >

2n 4n
© 3 (D) =~
A tan 15° =2 - 3 8, @ tan 15° . cot75° +
tan75° . cot 15° %1 WH 47 207
(A) 14 (B) 12
(C) 10 (D) 8
T FiEEEE 71 90 TR ST w1 =W 140M §
R yiETER am #1 frfw w0 dt=m 2, 3= T
o Iy fed T 2 Hier =2 w9E i oeEE v -
(A) 8060 HIZ (B) 9660 H=
(C) 9460 Tzt (D) 9860 T2t
27 FEHTET T, 8 WD =gt qur 1 #Ene we
o7 F ZTHE F FOEr OF 9 A T g S
F AR AEFE F A= -

(A) 284 =9 M= (B) 296 =77 HaHET
(C) 286 = H2MtzT (D) 300 57 2wtz

TEAE F TF el GeER ¢ e S A
SR ¥ E w A w14 faerdio Fen
=19 5 foetie #) e w1 wadm duwe © -

(A) 420 =9 fadt (B) 222 = Tist
(C) 220 =7 Tt (D) 440 =i Tt
M+ b+ F-ab-—bc—ca=0%,

[AJa+b=rc Blbt+tc=a
[Cle+a=h (D)a=b=c

A 290 + 2050 + K, (x+ 1) B E A KITRE -
(A) 1 (B)-3

(C) 2 (D) -2

TE S=l+a+ad+ad+a +..oTm, a= ?
Ay -2 Bl ——
{]S—l {]1_5

g-1
© 5

D 1-5
D) 5
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T I3 P T T Y P FF T T T T P T T ¥ P PP Y F T T T T F P P T T E F P T T P T P Y F Y P T Y PP F T T T Y PP T
¢ 74. A conical vessel of radius 6 cm and height
05 mnfr+y).tanlr-g)=1,thenthe vahue of 8 cm is completely filled with water. A
’ ( %t_] sphere is lowered into the water and its size
7227 I is such that when it touches the sides, it
i 5 is just immersed. The fraction of water that
—_ —_ overflows is
A 73 B 73
1 2
€) V3 (D) 1 (A) 3 (B) 5
: , : 3
69. Ifsin'x+sin'y+sin'z= -, ,thenx+y+z=7 3 S
2 € 3 (D) 3
(A) 1 B) 3 75. A corner of a cube of side length 8 m, when
3 cut by a plane which bisects the sides of
the cube, we get a pyramid whose volume is
1
(C) 3 (D) -3 (A) 8.37 m* (B) 10.67 m*
3 3
70. An electrician has to repair an electric fault (©) l 120 m [Pl 2631
on a pole of height 4 m. He needs toreacha | 76. If x’ — 3x + 2 is one of the factors of
point 1.3 m below the top of the pole to polynomial fix)= x* - 5x' + Ax’ + Bx’ + 4x— 40,
undertake the repair work. The length of then the values of A & B are -
'the 'ladder that he should use, \.Nhlch when (A) - 30, - 50 (C) - 40, - 40
inclined at an angle of 60° to the horizontal would
enable him to reach the required position is — (C) -20, -60 (D) -10,-70
(1) .(_9__‘[3_’1 m (2) F’_‘E’_’ m o S | A + i + 2 =1, then the value of
10 10 l1-a 1-b -c
(343) (943) l : — -2
@)% m () =" I A3h¢ e
1
71. If the medians AD and BE of any triangle (A) i
ABC making right angle intersect at point G. €)3 (D)7
If AD =9 cm and BE = 6 cm, then the length
of BD will be — 78. I+ +2x+1=0, then thex’ + y*will be -
(C) Scm (D) 3 cm €)1 (D) 2
72. lis the in-centre of a triangle ABC. If ZABC= | 79 Wwhat will be the value of sina:sinf? If
6§°and.lACB = 55°, then the value of £ BIC a+B=90° and a:B=2:1.
will be —
(A) 120° (B) 110° (A) ¥3:1 B)2:1
(C) 90° (D) 100°
: €)1:1 (D) v2:1
73. In any triangle ABC, AB + BC = 12 cm,
BC+CA=14cmand CA + AB= 18 cm. What | 80. Distance between the centres of two circles
will be length of radius of a circle, if the of radii 4 cm and 9 cm is 13 cm. The length
perimeter of circle is equal to the perimeter of the common tangent is -
of triangle ABC.
(A) 2 cm (B) 3.5 cm (A) 13 cm (B) Y153 cm
(C) 1.5 cm (D) None of these (C) 12 cm (D) 18 cm
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_ . o™ 74. 6 HaHR e ue 8 HEHE AR F U e
0. qﬁ"tE"r’L[""'”“‘j't":m'{"f'k"]=1_';7*"E'Tt":'ﬂﬂ3]3’—r A WA W W R R TS W 9§ e W g
Tt - fowren wm @ wew & fF W@ @ Wt ol = e
F 98 9§ qoia: == S 1 9w e
1 2 .
™ ® 75 9N 96§ 4% M7
1 1
(C) V3 (D) 1 W3 ®) 3
_ _ . 3m, . 3 5
69. ﬂﬁs.m"x+5m"y+sm'-z=E%,?I’lx+y+z=? {C]E {D:E
1 75. 8RN T 9 F TR wH F e awee gm
(A) 3 &3 w124 7w frafge = 29 & = s et =
wrfgefem =t &, Fa o # -
1
€ —3 (D) -3 (A) 8.37 HF (B) 10.67 =¥
70. T faweh e F 4 de o et ® w9 W (C) 11.20 (D) 9.68
faeelt 7 WO ST F 2| W 3w F e 99 | 76, AR AR fix) = - 5 + Ax' + B + 4x— 40, 7
=Y & T ¥ 1.3 "W e uw A a1 E TF S - 3x+2 8, AAMMBYE -
WA | 60° FHIM TE 0 HE T wEE o (A) - 30, - 50 (C) - 40, — 40
el el feifa famg 7 vea w - (C) - 20, - 60 (D) - 10, - 70
943) (3v3) . b c .1
(1) 10 HIZ (2) 10 He 77. 4% ot 187 l—-:_l 7, —a*
1 1 :
. 9y3) . S
@ ey O3 15 * 1o T T
71. fwdt frqe ABC 37 31 mfersTd AD 3% BE a=Rm A (B) 2
T B0 G T FTEAl & 959N a5 AD = 9 Tt a9y (€3 (D)7
BE = 6 ¥ 71, o BD =t wr fFes oo =02 | 78, AR 2+ yf + 2+ 1= 0 F, A XM + S WA
(A) 10 Fefto (B) 6 Fito B -
: . A) -1 B) 0
(C) 5 HHto (D) 3 ®to (A) (B)
. . C) 1 (D) 2
= I?mﬂm?mjél JR. I £ABC - 79. TE a+B=00° M a:p=2:1 W sina:sinf
65° 9 £ ACB = 55° %, T £ BIC %1 AH e 1 T e S
B
(A) 120° (B) 110° (A) 3 :1 B)2:1
(C) 90" (D) 1007 C)1:1 (D) 42 :1
7 ﬁ?ﬂ?ﬁiiﬂ;ﬁ‘i;;;ﬁlﬂc;{‘ 80. e 4 B 3 0 W AR A A F A F AT A
= o + = o H?ﬂHII _ 5 - . -
) e 13 T &) vl sreeyl T (AT e T
9 F T fr o 7 o o I i . s
. X ‘ #F A=) = Fan # -
% i F W #? )
(A) 2 o (B) 3.5 Fto (4) 13 =t (B) 153 Tt
(C) 1.5 Fito (D) 8 A FE (C) 12 #=ht (D) 18 %t
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B2,

83.

B4.

85.

Two poles of equal heights are at the just
opposite sides of a 100 m wide road. The
angle of elevations of the top of these two
poles from a point on the road are 30" and
60" . The height of each pole is -

(A) 25,3 m (B) 2043 m

(C) 2843 m (D) 3043 m

The angle of elevation of the top of a tower

from the top of a building of Ym height is

60" and the angle of depression of the foot of

the tower from the top of that building is
30% Then the height of the tower is —

(A) 7(W/3 +1)m (B) 7(y3 -1)m

IC) 83 +1)m (D) None of these
Find the volume of a pyramid whose base is
an equilateral triangle of side 2.5 m and
whose height is 8 m.

(A) 8.07 m® (B) 7.07 m®

(C) 6.07 m* (D) None of these

A cylindrical container is filled with ice
cream. Its diameter is 12 cm and height is
15 cm. The whole ice cream is distributed
among 10 children in equal cones having
hemispherical tops. If the height of the
conical portion is twice the diameter of its
bhase, the diameter of the ice cream cone is

(A) 8 cm (B] 5 cm
(C) 7 em (D) & cm
If cos 43° = , then tan 47" will be
x+y?

the equal to

Ll *
@) = ®)

Yy

IC) _‘quz +y? (D) x

a7,

88,

20,

90,

A 4 cm cube is cut into 1 cm cubes. Find

the percentage increase in total surface area.
[A) 300% (B) 100%

(C) 200% (D) None of these

If the ratio of £ A and £ B of a non-squared

rhombus ABCD is 4 : 5, then the measure

of #Cis -
[A) 50° (B) 45°
(C) 80* (D) 95

In traingle ABC, D and E are points on AB
and AC such that DE| | BC and DE divides
the triangle ABC into two equal areas. Then
the ratio of AD and BD will be -

(A)1:1 B) 1:42 -1

(C) 1:42 D) 1:42+1
A hemispherical bowl of thickness 1 cm and
external diameter 10 cm is to be painted

all over. What is the cost of painting at the
rate of ¥ 0.70 per cm??

(A) T 200 (B) T 400

(C) ¥ 800 (D) ¥ 100

A shuttlecock used for playing badminton
has the shape of a frustum of a cone
mounted on a hemisphere. The external
diameters of the frustum are 5 cm and 2
cm, the height of the entire shuttlecock is
7 cm. The external surface area of the
shuttlecock is
(A) 67.98 cm” (B) 74.26 cm*

(C) 70 cm? D) 72 em?
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81. W FAE F T @ UF 100 Ht A GGF F | g afr 4 Wi e A = | SR A
A AR A-AEA @2 ) WEE W I d4E T N e 3 ot -
fo= & =75 fomm % == wm 30° 3K 60° #, I TN R T &R ¥ e Hioww
T Y H TR T - (A) 300% (B) 100%
(A) 2543 (B) 2043 F (C) 200% (D) =7 & w7 T
() 2845+ D) 30/3 7 87. =f% wF f-=i wH=gds ABCD #F %M 2 A 790
82. 7 v ¥4 v % for A wF zw @ fot A ZBF W A4:5E W LCHATE -
T W 60° F T THF IE F FTTEA-F 30° (A) 50° (B) 45°
T T FT FARE F@ FiA (C) 80° (D) 95°
(A) 7(v/3 + 1)z (B) 7(y/3 —1)Hr= 88, fays ABCH, D 741 E #91: AB 791 AC W 21 U9
fag # f¥ DE | | BC, 3% DE, faqs ABC 51 91
(€ 8W3+ytiw (D)3 @ FiE T T EEE A W A i w A 8, T,
83. =W fifie &1 @rEe w@ F9 fama sam 2.5 i AD T BD &1 S 41 g7
o=l Al U T B # v Tt S R e # -
(A) 8.07 (B) 7.07 T (A1:1 (B) 1:42-1
C) 6.07 4 D) T4 | F15 &l
) Dy ET {C]l:\E {D]If-\'ﬁil
84. TF UEAER T4 H AUH-FE 90 ¥ THE =W
12 #t i = 15 S #) Tt ame-wm
ST = | o v SRR & A aee | 89, U SR FI i At | Hrder s awd
F A0S A e b R S ST w109 £, 7 i 9 12 0.70
T g TR T AT ANTL oy ot oo ) e i o e o o 87
. (A) T 200 (B) F 400
(A) 8 HHI (B) 5 HHi
(C) 7 =it (D) 6 &t (C) T 800 (D) ¥ 100
90. ¥=faza de | vemm F1 99 = a2 v foerw
85. A% cos 43° = ——— @, A tan 47° fFEE ) - 1 )
NESES F IHE FE A TF aden 7 fem #) foew F
AL B - e A e 5 WA SR 2 T € aw fad
N F1 w0 FEE 7 demr 21 (92 =1 A g9 ©
® 3 ®) 5
(A) 67.98 T HIWHET (B) 74.26 79 S2H=
Y
©) s+ (D) x (C) 7051 HIM=2T (D) 72 71 HIHA
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Directions Q. Nos. 91 to 95): Study the graphs to answer these questions.

The pie chart shows the percentage of graduate employees in various deparment of
M/s PQR Ltd. The employees in various departments of Ms PQR Ltd. Other than
graduate employees are those employees who are either post graduate or

undergraduates.
Number of graduate
emplovee = 3000
Finance
A mindstration 5%
10%
M/s POQR Ltd. — Number of employees = 18000
BO00 ——
S000
4 5000 ——  —
]
g
= 4000
0, 4000 —t— — plttly
u
LE' 3000 ——
(=
4
2000 .
E 2000 e
A
“ 1000
1000 e—— ﬂ

Production
IMarketing
Design
Firsance
Onher

Administration

01. What percentage of other than graduate
employees are there in Marketing and
Design department together?

04. What is the approximate ratio of
number of other than graduate

[A) 55.5% (B) 75.5% employees in Finance to graduate

(C) 77.5% (D) 67.5% employees in Administration
92. The number of graduate empolyees in department?

Administration and Production (A)1:6 B)1:7

together is how many times other than (C)7:1 (D) 6: 1

graduate employees in Marketing and

Finance together? 95. What is the median of number of

(A) 0.355 (B) 0.285 graduate employees in Production,

(C) 0.445 (D) 0.215 Marketing, Design and Finance
03. Number of other than graduate departments?

employees in Finance and Design (A) 800 (B) 675

departments together is what percent (C) 1100 (D) None of these

greater than number of graduate

employees in Administration

department?

(A) 933% (B) 666%

(C) 533% (D) B33%

For latest update on our website like us on facebook — www.facebook.com/cgl.ssc2014



www.ssc-cgl2014.in

For more free Study Material, Mock Test Papers, Audio & Video Tutorials and ssc news visit

www.ssc-.ch2014.in

9 (uwa "= 91-95 ): fau T smEt i dwer Fefataa uE & 3 2

freifea 9= amia fod PQR fafids & fafu= fawmii o wae o =it =1 wiaee vl €1
i pQR fAfues & fafu= fawnil s e sdenfi=l & s @ Ot se=nigt § 9 @ a1 =
o FwHET § @ A 90 et § fami ot 7 wew o T2 fwar i

I AT @ HEm = 3000

Yo PQR fofids - sfafial o dem = 18000

L
SO0
SO00 m— —
000
‘E GO0 —— o 4ﬂﬁ
%
% I
2000 AN
000 —— — S
e iﬁ‘n
0

PoEFOFOF P

Q1. TEF TH FHANE & A A5 FH=E o | o4, fam faum | v oew wE wematys favm #

4 %7 fem wfom Fead fawm o g EAF FHANE F1 S ()
faami | =rfm 22

(A) 55.5% (B) 75.5% A)1:6 B)1:7

(C) 77.5% (D) 67.5%

02, WUMA UH TERA fauni H AEE @ ©7:1 (D)6: 1
T FHAE # HEn e ae fm faam E | 95, 3, faqum, e we faw faamt @ o=

ﬁiTvﬂﬂvﬁﬂmﬂﬁmﬁﬁm TR FEEE 1w = 82
™ 21
(A) 0.355 (B) 0.285 (A) BDO (B) 675
lCJU-’-M-:r D]U.EIS Wy
03, Fast den v faster A fe e et w5t (C) 1100 (D) 9 & F 7l

Fo Hem, TETE faam 9 e s w1
e o frad wiava sy &2

(A) 933% (B) 666%

(C) 533% (D) 833%
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Directions (Q. Nos. 96-100) Study the graphs to answer these questions.

The combined total sale of six models of cars, A, B, C, D, E and F sold by a manufacturer
in 2010 and 2011 was 2222 and 2884, respectively. The percentage breakup of the
sales of these six models in the two years is shown in the pie charts below.

96.

97.

98.

Breakup of car Sales
in 2010

What is the ratio of the number of cars
sold of model A in 2010 to the number
of cars sold of model C in 20117?

(A) 1.3:2 (B)0.58 : 1

(C) 0.62:1 (D) 1:1.27

By how much percentage is increase
in sales from 2010 to 2011 of model D
more less than that of model C?

(A) 69% less (B) 60% more

(C) 59% less (D) None of these
How many models have registered
higher percentage increase in sales
individually, as compared to the
percentage increase in total sales?
(A) 2 (B) 3

(C) 1 (D) None of these

Breakup of car Sales

100.

in 2011

If the declining trend in model B sales is
projected to continue in 2012 as well,
what would be the approximate model B
sales in that year

(A) 459 (B) 424

(C) 430 (D) 434

What was the ratio of the combined sale
of the two highest selling models to that
of the two lowest selling models in 20117?
(A)2:1 (B)3:1

(C)S5:1 (D)1:4
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THE91 ( wvR "= 96-100 ): T WAl &1 I97 24 & ToW0 3@l &1 3759 &l

et fomian g ffifa =1 A, B, C, D, E 37 F & 6 fafia= wreul i o1 &0l i anftes Taw
T4 2010 3T 2011 H F99T1: 2222 3T 2884 1 77 21 Fut # fafu= wreyi =1 wiave fasir = affam
A ANE ET FYTAT A #

9 2010 & & Rt T Tt

06. 9 2010 W UE9 A ® ®1 ®1 fassi it

97.

98.

9 2011 5 TR 7T C 1 TGt #1 2/ 7
2

(A)1.3:2 (B) 0.58 : 1

(C) 0.62: 1 (D) 1:1.27

a4 2010 % 2011, %9 D& &1 = fawt w9
C # 1 #1 fas1 § Trad wiova aifas/#49 &7
(A) 69% 1 FH (B) 60% T =4mT

(C) 59% FT F=HT (D) 395 9 F15 Tl
=a fasl o afz =1 g0 ¥ f5m wew 5 Fnf
F1 sl %1 vt mEiiw # -

(A) 2 (B) 3

(C) 1 (D) 9 | FT5 71

99,

100.

T4 2011 ¥ &R far &7 wifwwr

16%

7% wee B ®i fa=rt & w2t =1 %9 99 2012 H
of FH T8 T 9 99 wed B ®1 fawt s =
w7

(A) 459 (B) 424

(C) 430 (D) 434

a9 2011 § 51 wEiueE fawt 59 9 e & wl
F1 W= T4 51 a9 #6124 9 9 & F
F1 HENA! F AN T E?

A)2:1 Bj3:1

(C)5:1 D) 1:4
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